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o Please check that this question paper contains 8 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.

« Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :
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All questions are compulsory.

This question paper consists of four Sections A, B, C and D. Section A
contains 8 questions of one mark each, Section B is of 10 questions of two
marks each, Section C is of 9 questions of three marks each and Section D
is of 3 questions of five marks each.

There is no overall choice. However, an internal choice has been provided
in one question of 2 marks, one question of 8 marks and two questions of
5 marks weightage. A student has to attempt only one of the alternatives
in such questions.

Wherever necessary, the diagrams drawn should be neat and properly
labelled.
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SECTION A
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What is a detritus food chain made up of ? How do they meet their energy
and nutritional requirements ?
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Why are green algae not likely to be found in the deepest strata of the

| ocean ?

39 9IERAT 3R 36 Tk U vafl 1 T Farse Rl aie g @19 6 aiahi
B T 941 Sfiaemdl =7 57 2 |

Name the phenomenon and one bird where the female gamete directly
develops into a new organism.
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When does a human body elicit an anamnestic response ?

¥ ot 2 17 3 T R o Wi oy ey e R A1 2 |

Name any two diseases the ‘Himgiri’ variety of wheat is resistant to.

Gebseh! BRI & i mRNA % Ao 3 giedEit 61 g sy |

State the role of transpesons in silencing of mRNA in eukaryotic cells.

Treferia grr fom-fom wer it So-fafyga sfelis 36 2,  m fiRge .
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Gi) Temrem % faftm & 3§ 31w daiicewr aifszRer § Wit 6 e
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Name the type of biodiversity represented by the following :

(1) 1000 varieties of mangoes in India.

(i) ~ Variations in terms of potency and concentration of reserpine in

Rauwolfia vomitoria growing in different regions of Himalayas.
Sl ahade ($2ferfem Fadd) @ S e ae % o drarf e
9T ) HelE a9 4 W R 2

Why is the use of unleaded petrol recommended for motor vehicles
equipped with catalytic converters ?
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SECTION B

o wa & 5 HE T UF & TR § ol T @ o W § A
19U T UTH THT g & Sohdl & |7 Uk IS hI S8l § GHSET |

“It is possible that a species may occupy more than one trophic level in
the same tem at the same time.” Explain with the help of one

—

example. - =
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What is meant by “alien species” invasion ? Name one plant and one
animal alien species that are a threat to our Indian native species.

garTe Sreifiehl a3 e Sedifeae Sifen & e 9ifsd DNA ©@8
TeI9 U H g 1 oM aret i 9r fafte fafee |

Write any four ways used to introduce a desired DNA segment into a
bacterial cell in recombinant technology experiments.

ASHH 1 F8 T8 F491 A mE ?égr%ﬂsaﬁﬁmmﬁmaﬁ?ﬁ%?

Why is proinsulin so called ? How is insulin different from it 2
Higasls & aitTea T FEHIGGE b Hid 9 3 s 3§ i 9an |

Differentiate between the two cells enclosed in a mature male
gametophyte of an angiosperm.

UF UH "l 1 fRmE @y GeE e Oa 9% 5 s $9 "elurey w0
SHTEY T 2 | 389 THR % TR % 9 TR |

Work out a cross to find the gemﬂ;}ipe of a tall L”lﬁt‘ Name the type of
Cross.

92El W HigT & IgHa + faw # iifE wE wwea & uftmewn faflan |
Ieenl-fue faverymr @ g aferes +i v wor Tmea firemr 2 2

Write the Oparin and Haldane’s hypothesis about the origin of life on"

Earth. How does meteorite analysis favour this hypothesis ? e
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AT
& Fft ferelt gl % ag =t i Fewe T & W W N K &, @A
yigeniay (Theifae) o1 soeeH a1 e Sl 8 ?
rite the events that take place when a vacecine for any disease is
introduced into the human body.

OR
Why is a person with cuts and bruises following an accident administered
tetanus antitoxin ? Give reasons.

17. “fm o & i@ 9292 guE 9g & 9 Siam] (SRiEE) ®1 9M
/ fafian | 37 gumEi o o0 B 1 F1 HR0 B ? 2
Name the bacterium responsible for the large holes seen in “Swiss

Cheese”. What are these holes due to ?

18. /PCR 9% # 3EHI 60 IH 901 DNA Tieimis & 8id &1 9W fafge |
/. adTEu TEE 39N =11 TR San 2 | 2

Name the source of the DNA polymerase used in PCR technique. Mention
why if is used. K
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SECTION C
y{a} THE SR % AN FHE % YR % ®9 H DNA 9g&9dl %
o o gH=E
(b) DNA fEmfifén § VNTR i s sase | ' 3

£ {}P Explain DNA polymorphism as the basis of genetic mapping of
human genome.

/(b)  State the role of VNTR in DNA fingerprinting.
f.’{ i # SiTififis swia a3 e e % i Jidte (Jad vEi )
v &1 " | gig fmd S g8, GHER | 3
Explain the increase in the numbers of melanic (dark winged) moths in
the urban areas of post-industrialisation period in England.

21. HiHIHd AGH (Tawl) ¥ THENE F HE THR IeaeT H @ 8 2 9+
Uz g 'Ry | 3

/ Describe how biogas is generated from activated sludge. List the

components of biogas.
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fiee geTell ik, Mufiss IEEORERINERT, YIS a9l YsR1ust &
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(b) HHel H koA i UBRAT 3 g1 FEEE % vy ° wmwmEy |
(a) Draw a L.S. of a pistil showing pollen tube entering the embryo-sac

o in an angiosperm and label any six parts other than stigma, style
and ovary. :

(b)  Write the changes a fertilized ovule undergoes within the ovary in
an angiosperm plant. :

. OR
(a) Draw a diagrammatic sectional view of a human seminiferous
\ tubule, and label Sertoli. cells, primary spermatocyte,

spermatogonium and spermatozoa in it.

L})/ Explain the hormonal regulation of the process of spermatogenesis

in humans.

-30_. TRl O <hl UfRA R EEidiMet Hged A SR wWiEd w8 7
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(a) I T I9H ISR R THESe T Hed w1 WA uesged w1 frm
w1 2R |
(b) T FEm % ded # glaifeer § dwmia ufteg # 1 9@ fomem #
Tt 3 foha TR g ?
How does the process of natural selection affect Hardy-Weinberg
equilibrium ? Explain. List the other four factors that disturb the
equilibrium.
OR

(a)  Explain Mendel's law of independent assortment by taking a
suitable example.

{b)f How did Morgan show the deviation in inheritance pattern in
/  Drosophila with respect to this law ?
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